(20) Addition up to 100 (horizontal)

40 + 53 =

46 + 60 =

80 + 74 =

1+82=

2+56 =

83 + 14 =

57+22 =

80 + 28 =

T+95=

Date: Score:

8+54 =

90 + 70 =

22+ 27 =

96+ 12 =

54+ 1=

10 +47 =

97 +75 =

34+ 87 =

78 +91 =

88+ 71 =
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(20) Addition up to 100 (horizontal)

57+93 =150

40 +53 =093

46 + 60 = 106

80+ 74 =154

1+82=283

2+ 56 = 58

83+ 14 =97

57T+22="79

80 +28 = 108

7+95=102

8+54 =062

90 +70 = 160

22+27=49

96 +12 = 108

54+1=255

10 +47 =757

97+75=172

34 +87 =121

78 +91 = 169

88+ 71 =159
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